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8.0¢10° 1.0+10* 1.2¢10% 1.4¢10* 1.6¢10*
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Object 185 J,;,,= H.,,=24.08
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3 Mﬁr :
8.0¢10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*

Wavelength (A)



)

Flux (10" ergs s* cm? A™

Flux (108 ergs s* cm? A™)

~
—

Flux (10 ergs s* cm? A

o
~

© © © &6 o o
0 O A N O DN

=
o

o o
o Ul

S
[

s
)

0.4
0.2
0.0

-0.2

-0.4

-0.6

-0.8
-1.0

Object 187 J,;,.= H;,,=24.10

T

3 et 7
- L .
8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 188 J,,,= H,,,=24.17
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Wavelength (A)
Object 194 J,,,= H,,,=24.25
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 195 J,;,= H,,,=24.28
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)
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8.0°10° 1.0-10* 1.2.10* 1.4+10* 1.6¢10*
Wavelength (A)
Object 197 J,;,.= Hy4,,=24.30
8.0:10° 1.0+10% 1.2.10% 1.4+10% 1.6+10%
Wavelength (A)
Object 198 J,;,= H,,,=24.31
8.0°10° 1.0-10* 1.2.10* 1.4¢10* 1.6¢10*

Wavelength (A)
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8.0¢10° 1.0¢10* 1.2¢10* 1.4¢10* 1.6¢10*
Wavelength (A)
Object 204 J,,,= H,,,=24.45
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Wavelength (A)
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Wavelength (A)
Object 209 J,,,= H,,,=24.60
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Wavelength (A)
Object 210 J,;,,= Hy4,,=24.60
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Wavelength (A)
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Object 212 J,;,,= H,,=24.61
E_ JI]}MMMW .
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Wavelength (A)
Object 213 J,;;= Hy4,,=24.63
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